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1. Addition of a reactant or product will make the reaction do what?
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2. lllustrate Le Chatelier’s Principle:
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3. Describe the following solubility based on the properties:
a. Larger Ksp=
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b. Smaller Ksp=
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1. Rules for assigning Oxidation Numbers:
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5> State the oxidation numbers for the following elements:
a. Group 1A= * \

b. Group 2A= ‘\”Z,
c. Group 7A= U\b,\ P\\L/OO\.L\S
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3. Assign an oxidation number to each element:

a. Zn &

b. Cu2+ ’\/7,




c. CaCl2 @
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4. When balancing redox reactions, the number of electrons X n ¢ d.
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6. Balance the following redox reaction:
a. Al(s) +Ag’ (aq)-———> AP} (aq)+Ag(S)
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